

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

▶ Do not enter social security numbers on this form as it may be made public.

▶ Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

For	calendar year 2015 or tax year beginning	<u> </u>	, and ending		
-Na	me of foundation		•	A Employer identification	number
T	THE JULIUS H. AND BARBARA	B. BEERS			
	FAMILY FOUNDATION			38-3417343	}
	mber and street (or P O box number if mail is not delivered to street	address)	Room/suite	8 Telephone number	
С	C/O 102 W. FRONT STREET			(231)947-4	000
	y or town, state or province, country, and ZIP or foreign p	ostal code	·	C If exemption application is p	pending, check here
	TRAVERSE CITY, MI 49684				•
G	Check all that apply: Initial return	Initial return of a fo	ormer public charity	D 1. Foreign organizations	s, check here
	Final return	Amended return	-		
	Address change	Name change		Foreign organizations me check here and attach co	eeting the 85% test, omputation
H (Check type of organization: X Section 501(c)(3) ex	empt private foundation		E If private foundation sta	tus was terminated
	Section 4947(a)(1) nonexempt charitable trust	Other taxable private founda	ation	under section 507(b)(1	
l Fa	air market value of all assets at end of year J Accounti	ng method: X Cash	Accrual	F If the foundation is in a	60-month termination
(fi	from Part II, col. (c), line 16)	her (specify)		under section 507(b)(1)	
	\$ 1,651,406. (Part I, colu	mn (d) must be on cash t	basis.)		
Pa	Analysis of Revenue and Expenses (The total of amounts in columns (b), (c), and (d) may not	(a) Revenue and	(b) Net investment	(c) Adjusted net	(d) Disbursements
	necessarily equal the amounts in column (a))	expenses per books	income	income	for charitable purposes (cash basis only)
	1 Contributions, gifts, grants, etc., received			N/A	
	2 Check X if the foundation is not required to attach Sch. B				
	3 Interest on savings and temporary cash investments				
	4 Dividends and interest from securities	33,612.	33,612.		STATEMENT 1
	5a Gross rents				
	b Net rental income or (loss)				
ø.	6a Net gain or (loss) from sale of assets not on line 10	-17,690.			
Ž	b Gross sales price for all assets on line 6a 710,881.				
Revenue	7 Capital gain net income (from Part IV, line 2)		0.		
~	8 Net short-term capital gain			RECEI	VED
	9 Income modifications				
	Gross sales less returns and allowances			S MAY no	2016
	b Less Cost of goods sold			A MAI US	ENID O
	c Gross profit or (loss)				SC
	11 Other income			T ARDEM	N. C.
	12 Total. Add lines 1 through 11	15,922.	33,612.		
	13 Compensation of officers, directors, trustees, etc	0.	0.		0.
	14 Other employee salaries and wages		<u> </u>		
ø	15 Pension plans, employee benefits				
		0.070	4 40=		
Expense	b Accounting fees STMT 2	2,270.	1,135.	,	1,135.
Щ	c Other professional fees STMT 3	18,015.	13,511.		4,504.
Administrative	17 Interest	0.564			
ĭtra	18 Taxes STMT 4	2,564.	0.		0.
ij	19 Depreciation and depletion				
Ē	20 Occupancy				
٧p	21 Travel, conferences, and meetings				
and					
ing	23 Other expenses				
Operating	24 Total operating and administrative	22 040	14 646		F 630
å	expenses. Add lines 13 through 23	22,849.	14,646.		5,639.
_	25 Contributions, giπs, grants paid	79,500.			79,500.
	26 Total expenses and disbursements.	102 240	14 646		05 120
Operat	Add lines 24 and 25	102,349.	14,646.		85,139.
	27 Subtract line 26 from line 12:	06 427			
	a Excess of revenue over expenses and disbursements	-86,427.	10 066		
	b Net investment income (if negative, enter -0-)	-	18,966.		-
	c Adjusted net income (if negative, enter -0-)			N/A	<u></u>

LHA For Paperwork Reduction Act Notice, see instructions.

Fo	m 99	00-PF (2015) FAMILY FOUNDATION		38-3	3417343 Page 2
F	art	Balance Sheets Attached schedules and amounts in the description	Beginning of year	End of	
Ė		Column should be for end of year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing	51,400.	67,275.	67,275.
	2	Savings and temporary cash investments			
	3	Accounts receivable			
		Less: allowance for doubtful accounts			
	4	Pledges receivable ►]		
		Less; allowance for doubtful accounts ▶			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons			
	7	Other notes and loans receivable]		
		Less: allowance for doubtful accounts			
ţ	8	Inventories for sale or use			
Assets	9	Prepaid expenses and deferred charges			
Ä	10a	Investments - U.S. and state government obligations			
	b	Investments - corporate stock STMT 5	1,138,240.	1,065,164.	1,221,421.
	C	Investments - corporate bonds STMT 6	401,279.	372,053.	362,710.
	11	Investments - land, buildings, and equipment basis	<u> </u>		
		Less accumulated depreciation	1		
	12	Investments - mortgage loans			
	13	Investments - other			
	14	Land, buildings, and equipment; basis			-
		Less accumulated depreciation	1	İ	
	15	Other assets (describe ►			
	16	Total assets (to be completed by all filers - see the			
		instructions. Also, see page 1, item I)	1,590,919.	1,504,492.	1,651,406.
_	17	Accounts payable and accrued expenses			2700272001
	18	Grants payable			
s	19	Deferred revenue			
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons			
<u> </u>	21	Mortgages and other notes payable			
Ë	22	Other liabilities (describe)			
	23	Total liabilities (add lines 17 through 22)	0.	0.	
		Foundations that follow SFAS 117, check here		•	
		and complete lines 24 through 26 and lines 30 and 31.			
es	24	Unrestricted			
Net Assets or Fund Balances	25	Temporarily restricted			
За́	26	Permanently restricted		····-	
ᅙ	20	Foundations that do not follow SFAS 117, check here			
Ē		and complete lines 27 through 31.			
ğ	27	Capital stock, trust principal, or current funds	0.	0.	
ets		Paid-in or capital surplus, or land, bldg., and equipment fund	0.	0.	
SS	28		1,590,919.	1,504,492.	
et/	29	Retained earnings, accumulated income, endowment, or other funds	1,590,919.	1,504,492.	
Ž	30	Total net assets or fund balances	1,590,919.	1,504,492.	
	24	Total liabilities and not see to # and helpone	1,590,919.	1,504,492.	
=	31	Total liabilities and net assets/fund balances		1,304,434	
F	art	III Analysis of Changes in Net Assets or Fund B	Balances		
<u> </u>	Tota	I net assets or fund balances at beginning of year - Part II, column (a), line	: 30	 	
1		st agree with end-of-year figure reported on prior year's return)		1	1,590,919.
2	•	r amount from Part I, line 27a		2	-86,427.
3		r increases not included in line 2 (itemize)		3	0.
4		lines 1, 2, and 3	-	4	1,504,492.
5		eases not included in line 2 (itemize)		5	1,504,492.
6		I net assets or fund balances at end of year (line 4 minus line 5) - Part II, c	olumn (h), line 30	6	1,504,492.
<u> </u>	· Jiu	Turn, v	1277		Form 990-PF (2015)

000 DE (0045)		
rm 990-PF (2015)	FAMILY	FOUNDATIO

_			UNDATION						3	<u>8-341</u>	7343	Page 3
<u> </u>	Part IV Capital Gains a				Income	(b) 	low ac	guired	(c) Date	acquired	(d) Dat	e sold
			s) of property sold (e.g. ommon stock, 200 shs) P	low ac - Purch - Dona	nase tion	(mo., d			ay, yr.) \
	SEE ATTACHED							P				
	CAPITAL GAINS	DIVIDE	NDS					<u>_</u> _			· · · · · · ·	
_0					· · ·							
-												
	(e) Gross sales price		eciation allowed r allowable)		st or other basis xpense of sale					ain or (loss) s (f) minus (į	g)	
_a					728,57	1.					-38	,105.
_ <u>t</u>	·····										20	,415.
_												
								·				
_`	Complete only for assets showin	g gain in colu	mn (h) and owned by	the foundation	on 12/31/69			(1	I) Gains (C	ol. (h) gaın ı	nınus	
	(i) F.M.V. as of 12/31/69		djusted basis of 12/31/69		cess of col. (ı) col. (ı), ıf any			CO	l. (k), but r Losses	not less than (from col. (f	-0-) or	
_8	l .										-38	,105.
_ <u>t</u>										··· ·· ·	20	,415.
_												
_												
_	Capital gain net income or (net ca	pital loss)	{ If gain, also enter If (loss), enter -0	r in Part I, line	7 7	}	2				-17	,690.
	Net short-term capital gain or (los	•										-
-	If gain, also enter in Part I, line 8,			(-)-								
T E	If (loss), enter -0- in Part I, line 8 Part V Qualification U	nder Sec	tion 4940(a) for	Reduced	Tay on Net	Inv	3 estm	ent Inc	nome	N/A		
_	or optional use by domestic private								301710			
•			•	1010(a) tax on	not invostment in		·• <i>)</i>					
It	section 4940(d)(2) applies, leave th	nis part blank.										
	as the foundation liable for the sect			, ,	•	lods					Yes	X No
	"Yes," the foundation does not qual Enter the appropriate amount in e					ntries						 -
÷	(a)	Cacii coldiiii	(b)	iloti dottorio be	iore making arry c	(c)				D. I.	(d) ution ratio	
	Base period years Calendar year (or tax year beginnii	ng in)	Adjusted qualifying dis	tributions	Net value of no			use assets	:	Distribi (col. (b) divi	ution ratio ded by col.	(c))
_	2014			5,787.				9,648				<u>47935</u>
_	2013			1,399.				$\frac{2,011}{2}$				47270
_	2012 2011			0,706. 6,197.				<mark>2,848</mark> 7,858				<u>49126</u> 40665
_	2010			6,377.				9,005				54359
_								•				
	Total of line 1, column (d)								2		. 2	<u> 39355</u>
3	Average distribution ratio for the			on line 2 by 5,	or by the number	of ye	ars				0	47071
	the foundation has been in exister	nce it iess tha	n 5 years						3		. 0	<u>47871</u>
4	Enter the net value of noncharitab	le-use assets	for 2015 from Part X,	line 5					4	:	1,714	,383.
5	Multiply line 4 by line 3								5		82	,069.
6	Enter 1% of net investment incon	ne (1% of Par	t I, line 27b)						6			190.
7	Add lines 5 and 6								7_		82	,259.
8	Enter qualifying distributions from								8		85	,139.
_	If line 8 is equal to or greater than See the Part VI instructions.	n line 7, check	the box in Part VI, line	tb, and comp	olete that part usin	ıg a 1	% tax r	ate.				

Form 990-PF (2015)	17343 e instru	ıctio	Page 4
1a Exempt operating foundations described in section 4940(d)(2), check here ▶ ☐ and enter "N/A" on line 1.			,
Date of ruling or determination letter: (attach copy of letter if necessary-see instructions)			
b Domestic foundations that meet the section 4940(e) requirements in Part V, check here X and enter 1%		1	90.
of Part I, line 27b			
c All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).			
2 Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		_	_0.
3 Add lines 1 and 2		1	90.
4 Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)			0.
5 Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-		1	<u>90.</u>
6 Credits/Payments:			
a 2015 estimated tax payments and 2014 overpayment credited to 2015 6a 2,120.			
b Exempt foreign organizations - tax withheld at source			
c Tax paid with application for extension of time to file (Form 8868)			
d Backup withholding erroneously withheld 6d			
7 Total credits and payments. Add lines 6a through 6d		2,1	<u> 20.</u>
8 Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached 8			
9 Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed		1 0	
10 Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid		<u>1,9</u>	30.
11 Enter the amount of line 10 to be: Credited to 2016 estimated tax ▶ 1,930 . Refunded ▶ 11 Part VII-A Statements Regarding Activities			0.
<u> </u>		Vac	No
1a During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in	10	163	X
any political campaign? b Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for the definition)?	1a 1b		X
If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or	10		
distributed by the foundation in connection with the activities.	į		
c Did the foundation file Form 1120-POL for this year?	10		x
d Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:	16		
(1) On the foundation. > \$ 0. (2) On foundation managers. > \$ 0.			
e Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation			
managers. ▶ \$ 0.			
2 Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		x
If "Yes," attach a detailed description of the activities			
3 Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or			
bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3		<u> </u>
4a Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		X
b If "Yes," has it filed a tax return on Form 990-T for this year? N/A	. 4b		
5 Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		X
If "Yes," attach the statement required by General Instruction T.			
6 Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:			
By language in the governing instrument, or			
 By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law 			
remain in the governing instrument?	6		X
7 Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col (c), and Part XV	7	Х	
8a Enter the states to which the foundation reports or with which it is registered (see instructions)	-		
MI	-		
b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)		v	
of each state as required by General Instruction G? If "No," attach explanation	8b	X	<u> </u>
9 Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar year 2015 or the taxable year beginning in 2015 (see instructions for Part XIV)? If "Yes," complete Part XIV	_		v
year 2015 of the taxable year beginning in 2015 (see instructions for Part XIV)? If "Yes," complete Part XIV 10 Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses	10	-	X
To any personal begoing substantial contributors during the tax year. If Tes, attach a schedule listing their names and addresses	Form 99 0)-PF	

38-3417343 FAMILY FOUNDATION Form 990-PF (2015) Page 5 Part VII-A Statements Regarding Activities (continued) Yes No 11 At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of section 512(b)(13)? If "Yes." attach schedule (see instructions) X 11 12 Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges? If "Yes," attach statement (see instructions) 12 13 Did the foundation comply with the public inspection requirements for its annual returns and exemption application? 13 Website address ► HTTP://WWW.TAXEXEMPTWORLD.COM Telephone no. $\triangleright 231-995-4585$ 14 The books are in care of ▶ BECKY OSBOURNE ZIP+4 ▶<u>49686</u> Located at ►C/O FIFTH THIRD BANK, TRAVERSE CITY, MI Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here 15 N/A and enter the amount of tax-exempt interest received or accrued during the year No 16 At any time during calendar year 2015, did the foundation have an interest in or a signature or other authority over a bank, Yes securities, or other financial account in a foreign country? 16 X See the instructions for exceptions and filing requirements for FinCEN Form 114. If "Yes," enter the name of the foreign country Part VII-B | Statements Regarding Activities for Which Form 4720 May Be Required No File Form 4720 if any item is checked in the "Yes" column, unless an exception applies. Yes 1a During the year did the foundation (either directly or indirectly): Yes X No. (1) Engage in the sale or exchange, or leasing of property with a disqualified person? (2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) Yes X No a disqualified person? Yes X No (3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? Yes X No (4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? (5) Transfer any income or assets to a disqualified person (or make any of either available Yes X No for the benefit or use of a disqualified person)? (6) Agree to pay money or property to a government official? (Exception. Check "No" if the foundation agreed to make a grant to or to employ the official for a period after Yes X No termination of government service, if terminating within 90 days.) b If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)? N/A1b Organizations relying on a current notice regarding disaster assistance check here c Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected X before the first day of the tax year beginning in 2015? 1c 2 Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942(i)(3) or 4942(i)(5)); a At the end of tax year 2015, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning Yes X No before 2015? If "Yes," list the years b Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach statement - see instructions.) N/A 2b c If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here. 3a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time Yes X No during the year? b If "Yes," did it have excess business holdings in 2015 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, N/A Form 4720, to determine if the foundation had excess business holdings in 2015.) 3Ь X 4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes? 4a b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2015?

orm 990-PF (2015) FAMILY FOUNDATION			<u>38-34173</u>	43 Page 6
Part VII-B Statements Regarding Activities for Which F	orm 4720 May Be F	Required (contint	Jed)	
 5a During the year did the foundation pay or incur any amount to: (1) Carry on propaganda, or otherwise attempt to influence legislation (section (2) Influence the outcome of any specific public election (see section 4955); or 			s X No	
any voter registration drive? (3) Provide a grant to an individual for travel, study, or other similar purposes?	•	Ye	s X No s X No	
 (4) Provide a grant to an organization other than a charitable, etc., organization 4945(d)(4)(A)? (see instructions) (5) Provide for any purpose other than religious, charitable, scientific, literary, 			s 🗶 No	
the prevention of cruelty to children or animals? b If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify und		☐ Ye	s X No	
section 53.4945 or in a current notice regarding disaster assistance (see instru			N/A	5b
Organizations relying on a current notice regarding disaster assistance check hi	ere			
c If the answer is "Yes" to question 5a(4), does the foundation claim exemption fr		ined		
expenditure responsibility for the grant?		「/A □ Ye	s No	
If "Yes," attach the statement required by Regulations section 53.4945				
6a Did the foundation, during the year, receive any funds, directly or indirectly, to p				
a personal benefit contract?		Ye	s X No	
b Did the foundation, during the year, pay premiums, directly or indirectly, on a p	ersonal benefit contract?			6b X
If "Yes" to 6b, file Form 8870.	0.00.14.00.10.11.00.11.40.1			
7a At any time during the tax year, was the foundation a party to a prohibited tax s	helter transaction?	☐ Ye	s X No	
b If "Yes," did the foundation receive any proceeds or have any net income attribu			_	7b
Part VIII Information About Officers, Directors, Trusto		nagers. Highly		
Paid Employees, and Contractors	,			
List all officers, directors, trustees, foundation managers and their	compensation.			
(a) Name and address	(b) Title, and average hours per week devoted to position	(c) Compensation (If not paid, enter -0-)	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, other allowances
				•
SEE STATEMENT 7		0.	0.	0.
			İ	
2 Compensation of five highest-paid employees (other than those inc	luded on line 1) If none	enter "NONE "		
Compensation of five highest-paid employees (other than those me	(b) Title and average	T TONE	(d) Contributions to	(e) Expense
(a) Name and address of each employee paid more than \$50,000	hours per week devoted to position	(c) Compensation	(d) Contributions to employee benefit plans and deferred compensation	account, other allowances
NONE				
10 t				

Form **990-PF** (2015)

Total number of other employees paid over \$50,000

Form **990-PF** (2015)

N/A

Total. Add lines 1 through 3

All other program-related investments. See instructions.

FAMILY FOUNDATION

Pa	art X Minimum Investment Return (All domestic foundations r	must complete this part	Foreign four	ndations, s	ee instructions)
1	Fair market value of assets not used (or held for use) directly in carrying out charitab	le, etc., purposes:			
а	Average monthly fair market value of securities			1a	1,675,432.
b	Average of monthly cash balances			1b	65,058.
C	Fair market value of all other assets			1c	
d	Total (add lines 1a, b, and c)			1d	1,740,490.
е	Reduction claimed for blockage or other factors reported on lines 1a and				
	1c (attach detailed explanation)	1e	0.		
2	Acquisition indebtedness applicable to line 1 assets			2	0.
3	Subtract line 2 from line 1d			3	1,740,490.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount	t, see instructions)		4	26,107.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and o	n Part V, line 4		5	1,714,383.
6	Minimum investment return. Enter 5% of line 5			6	85,719.
Pá	art XI Distributable Amount (see instructions) (Section 4942(i)(3) a foreign organizations check here ▶ ☐ and do not complete this part.		undations an	d certain	
1	Minimum investment return from Part X, line 6			1	85,719.
2a	Tax on investment income for 2015 from Part VI, line 5	2a)	190.		•
b	Income tax for 2015. (This does not include the tax from Part VI.)	2b			
C	Add lines 2a and 2b	•		2c	190.
3	Distributable amount before adjustments. Subtract line 2c from line 1			3	85,529.
4	Recoveries of amounts treated as qualifying distributions			4	0.
5	Add lines 3 and 4			5	85,529.
6	Deduction from distributable amount (see instructions)			6	0.
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part	t XIII, line 1		7	85,529.
Pa	art XII Qualifying Distributions (see instructions)				
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., pur	poses:	i		05 400
	Expenses, contributions, gifts, etc total from Part I, column (d), line 26			1a	<u>85,139.</u>
	Program-related investments - total from Part IX-B			1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charita	ble, etc., purposes		2	
3	Amounts set aside for specific charitable projects that satisfy the:				
	Suitability test (prior IRS approval required)			3a	
	Cash distribution test (attach the required schedule)			3b	05 100
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, a			4	85,139.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net inve	estment		_	100
	INCOMO Enter 19/ of Dart I line 97h			E 1	1971
6	Income. Enter 1% of Part I, line 27b Adjusted qualifying distributions Subtract line 5 from line 4			5 6	190. 84,949.

Form **990-PF** (2015)

4940(e) reduction of tax in those years.

Part XIII . Undistributed Income (see instructions)

·	(a) Corpus	(b) Years prior to 2014	(c) 2014	(d) 2015
1 Distributable amount for 2015 from Part XI,	· -	·	·	· ·
line 7				85,529.
2 Undistributed income, if any, as of the end of 2015	-			9070251
a Enter amount for 2014 only			80,389.	
b Total for prior years:		···	00,303.	
2 · com ver proce years		0.		
3 Excess distributions carryover, if any, to 2015:				
a From 2010				
b From 2011				
c From 2012				
d From 2013				
e From 2014				
	0.			
f Total of lines 3a through e	0.			
4 Qualifying distributions for 2015 from				
Part XII, line 4: ► \$ 85,139.			00 200	
a Applied to 2014, but not more than line 2a			80,389.	
b Applied to undistributed income of prior				
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus				
(Election required - see instructions)	0.			4 550
d Applied to 2015 distributable amount				4,750.
e Remaining amount distributed out of corpus	0.		-, ··	
5 Excess distributions carryover applied to 2015 (If an amount appears in column (d), the same amount must be shown in column (a))	0.			0.
6 Enter the net total of each column as indicated below:				
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	0.			
b Prior years' undistributed income. Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years' undistributed income for which a notice of				
deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b. Taxable				* -
amount - see instructions		0.		
e Undistributed income for 2014. Subtract line				
4a from line 2a. Taxable amount - see instr.			0.	
f Undistributed income for 2015. Subtract				
lines 4d and 5 from line 1. This amount must				
be distributed in 2016				80,779.
7 Amounts treated as distributions out of				00,117.
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3) (Election				
may be required - see instructions)	0.			
8 Excess distributions carryover from 2010	0.	-		
not applied on line 5 or line 7	0.			
9 Excess distributions carryover to 2016.	0.			
Subtract lines 7 and 8 from line 6a	0.			
10 Analysis of line 9:	U.	,		
a Excess from 2011				
b Excess from 2012				
c Excess from 2013				
d Excess from 2014				
e Excess from 2015				

523581 11-24-15

Form **990-PF** (2015)

c Any submission deadlines:

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors:

Supplementary Information (continued) 3 Grants and Contributions Paid During the Year or Approved for Future Payment If recipient is an individual. Recipient show any relationship to Foundation Purpose of grant or Amount any foundation manager status of contribution Name and address (home or business) or substantial contributor recipient a Paid during the year NONE PUBLIC CHARITY GENERAL CHERRYLAND HUMANE SOCIETY 1750 AHLBERG ROAD TRAVERSE CITY, MI 49686 3,000, FATHER FRED FOUNDATION NONE PUBLIC CHARITY GENERAL 826 HASTINGS TRAVERSE CITY, MI 49686 5,000. GOODWILL INN NONE PUBLIC CHARITY GENERAL 2943 KEYSTONE RD TRAVERSE CITY MI 49684 2,000. GRAND TRAVERSE CONSERVATION DISTRICT NONE PUBLIC CHARITY GENERAL 1450 CASS RD TRAVERSE CITY, MI 49684 3,000. GRAND TRAVERSE LAND CONSERVANCY NONE PUBLIC CHARITY GENERAL 3860 N. LONG LAKE RD. TRAVERSE CITY MI 49684 5,000. SEE CONTINUATION SHEET(S) Total **▶** 3a 79 500. b Approved for future payment NONE Total

523811 11-24-15

Form 990-PF (2015)

Form **990-PF** (2015)

38-3417343 Page 12

Part XVI-A	Analysis	of Incon	ne-Producin	a Activities

	l Unrelated	business income	Evaluded	hy apption 510, 510, or 514	
Enter gross amounts unless otherwise indicated.	(a) Business	(b) Amount	(C) Exclu- sion	(d) Amount	(e) Related or exempt function income
1 Program service revenue:	code		code	Amount	
a	-		+		
b	-		 	-	<u> </u>
·	1 1		-		· -
d			 		-
e	_		+		
<u> </u>	_	·	+ +-		
g Fees and contracts from government agencies			+		
2 Membership dues and assessments					
3 Interest on savings and temporary cash					
investments			1 1	22 610	
4 Dividends and interest from securities			14	33,612.	
5 Net rental income or (loss) from real estate:			+ +		
a Debt-financed property					
b Not debt-financed property			+ +		
6 Net rental income or (loss) from personal					
property					
7 Other investment income					•••
8 Gain or (loss) from sales of assets other				00.44=	
than inventory			14	20,415.	-38,10 <u>5</u> .
9 Net income or (loss) from special events			+ +		
10 Gross profit or (loss) from sales of inventory					
11 Other revenue:					
a	1 1		1 1		~
b					
<u> </u>					
d	_				
e	_			54.005	20.405
12 Subtotal. Add columns (b), (d), and (e)		0	•		-38,105.
13 Total. Add line 12, columns (b), (d), and (e)				13	15,922.
(See worksheet in line 13 instructions to verify calculations.)					
Part XVI-B Relationship of Activities	to the Acco	mplishment of E	xempt P	urposes	
Line No Explain below how each activity for which in	come is reported in	column (e) of Part XVI-	A contribute	d importantly to the accomp	Dishment of
▼ the foundation's exempt purposes (other than the foundation) is exempt purposes.					
8 INVESTMENT INCOME FOR	CHARITAE	LE PURPOSE	S		
		· · · · · · · · · · · · · · · · · · ·			
		· · · · · ·			

Part X\		I FOUNDAL		nd Transactions	nd Deletions	bina With Nanahar			ge 13
Part A	Exempt Organ		sters to a	ind Transactions a	ina Relations	hips With Nonchar	itabie	•	
4 0.44			of the fallowin	a with any other avancingto		en FO1(a) of	1	Yes	No
	e organization directly or indi					1011 50 1(0) 01		163	140
	ode (other than section 501(c)				iizations?				
•	fers from the reporting founda	ation to a noncharitat	nie exempt ort	janization of.			40/41		v
(1) 0							1a(1)	_	X
_	ther assets						1a(2)	-	X
	transactions:	hla a					45/45		v
	ales of assets to a noncharital	• =		•			1b(1)		X
` '	urchases of assets from a no	•	rganization				1b(2)		X
	ental of facilities, equipment,						1b(3)		<u>X</u>
` '	eimbursement arrangements						1b(4)		X
	oans or loan guarantees						1b(5)		X
٠,	erformance of services or me	•	•				1b(6)		X
	ng of facilities, equipment, ma						1 <u>c</u>	L	X
	answer to any of the above is							sets,	
	vices given by the reporting for			ed less than fair market vall	ie in any transaction	or snaring arrangement, st	now in		
	an (d) the value of the goods,				1 (4) -				
(a) Line no	(b) Amount involved	(c) Name of		exempt organization	(0) Description	of transfers, transactions, and s	haring ar	rangeme	nts
			N/A						
					- "				
	_								
	foundation directly or indirec				zations described		·		7
	tion 501(c) of the Code (other)(3)) or in sect	tion 527?			Yes	X	No
b If "Ye:	s," complete the following sch			T	,				
	(a) Name of org	janization		(b) Type of organization		(c) Description of relationsh	IIP		
	N/A								
						 			
	Inder penalties of perjury, I declare nd belief					May	the IRS	discuss t	his
Sign			oparor (outor tha	1 1	Mation of Willon propage	sho	<u>vn</u> below	e prepar (see ins	
Here	1 1 charles	v 4		4/29/16	ADMIN	STRATOR \(\)	Yes	, L	No
	Signature of officer or trustee	· · · · · · · · · · · · · · · · · · ·		Date	Title				
	Print/Type preparer's na		Preparer's s	ignature	Date	Check if PTIN			
	KENNETH E.	DOUD JR.	,			self- employed			
Paid	CPA		KENNET		04/26/16		184		
Prepar	1 11111 0 1141110 > 212223	MANN ROBS	ON LLC			Firm's EIN ► 38 – 36	357	06	
Use O									
				07 S. CASS,	STE A				
	TR	AVERSE CI	TY, MI	49684		Phone no. 231-94	<u> 16 – 3</u>	230	

Form **990-PF** (2015)

3 Grants and Contributions Paid During the			<u> </u>	
Recipient	If recipient is an individual, show any relationship to	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	any foundation manager or substantial contributor	recipient	oona ibation	-
GRAND TRAVERSE PAVILLIONS .000 PAVILLIONS	NONE	PUBLIC CHARITY	GENERAL	
PRAVERSE CITY, MI 49684	•			2,50
GRAND TRAVERSE REGIONAL COMMUNITY	NONE	PUBLIC CHARITY	GENERAL	
250 E. FRONT ST.				10.00
PRAVERSE CITY, MI 49684				10,00
HABITAT FOR HUMANITY	NONE	PUBLIC CHARITY	GENERAL	:
1129 WOODMERE AVE				
FRAVERSE CITY, MI 49684		,		2,00
INLAND SEAS EDUCATION ASSOCIATION	NONE	PUBLIC CHARITY	GENERAL	
101 DAME				
SUTTONS BAY, MI 49682				3,00
MICHAEL'S PLACE	NONE	PUBLIC CHARITY	CENERAL	
20299 SW SCHOLLS FERRY RD	Nonz			
BEAVERTON, OR 97007				1,000
MISSAUKEE HUMANE SOCIETY	NONE	DUDI IC CUADITAV	CENEDAL	
P.O. BOX D	NONE	PUBLIC CHARITY	GENERAL	
LAKE CITY, MI 49651				2,00
MT HOLIDAY CAPITAL FUND 3521 HOLIDAY RD.	NONE	PUBLIC CHARITY	GENERAL	
TRAVERSE CITY, MI 49686				1,00
MUNSON HEALTHCARE COMM FOUNDATION 210 BEAUMONT PLACE	NONE	PUBLIC CHARITY	GENERAL	
TRAVERSE CITY, MI 49684				5,00
NORTHWESTERN MICHIGAN COLLEGE 1701 E FRONT ST	NONE	PUBLIC CHARITY	GENERAL	
FRAVERSE CITY MI 49686				5,000
OLD TOWN PLAYHOUSE	NONE	PUBLIC CHARITY	GENERAL	
148 E. EIGHTH ST TRAVERSE CITY MI 49684				2,500
Total from continuation sheets				61.500

Part XV Supplementary Information Grants and Contributions Paid During the Year (Continuation) If recipient is an individual, show any relationship to any foundation manager or substantial contributor Recipient Foundation Purpose of grant or Amount status of contribution Name and address (home or business) recipient NONE PUBLIC CHARITY GENERAL PRESERVE HICKORY HILLS 233 N MADISON ST TRAVERSE CITY, MI 49684 12,500. public charity General NONE TART TRAILS 415 S UNION TRAVERSE CITY MI 49684 1,000. TEMPLE BETHEL NONE PUBLIC CHARITY GENERAL 311 PARK ST 1,000. TRAVERSE CITY MI 49684 TRAVERSE BAY CHILD ADVOCACY CENTER NONE PUBLIC CHARITY GENERAL 121 EAST FRONT STREET STE 301 TRAVERSE CITY MI 49684 2,000. PUBLIC CHARITY GENERAL NONE TRAVERSE HEALTH CLINIC 3155 LOGAN VALLEY RD TRAVERSE CITY, MI 49684 5,000. PUBLIC CHARITY GENERAL UNITED WAY OF NORTHWEST MICHIGAN NONE 521 S. UNION 3,000. TRAVERSE CITY MI 49684 WOMEN'S RESOURCE CENTER NONE PUBLIC CHARITY GENERAL 720 ELMWOOD TRAVERSE CITY MI 49684 3,000, **Total from continuation sheets**

FORM 990-PF	DIVIDEND	S AND INTER	EST FROM SECUR	ITIES ST	TATEMENT 1
SOURCE	GROSS AMOUNT	CAPITAL GAINS DIVIDENDS	(A) REVENUE S PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME
FIFTH THIRD	54,027	. 20,41	33,612.	33,612.	
TO PART I, LINE 4	54,027	20,41	33,612.	33,612.	
FORM 990-PF		ACCOUNTI	NG FEES	នា	PATEMENT 2
DESCRIPTION		(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
ACCOUNTING	_	2,270.	1,135.		1,135.
TO FORM 990-PF, PG	1, LN 16B	2,270.	1,135.		1,135.
FORM 990-PF	0	THER PROFES	SIONAL FEES	Si	PATEMENT 3
DESCRIPTION		(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
TRUSTEES FEES	_	18,015.	13,511.		4,504.
TO FORM 990-PF, PG	1, LN 16C	18,015.	13,511.		4,504.
FORM 990-PF		TAX	ES	Si	PATEMENT 4
DESCRIPTION		(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
	_				
EXCISE TAX		2,564.	0.		0.

FORM 990-PF (CORPORATE STOCK			STATI	EMENT	5
DESCRIPTION		воок	VALUE		MARKE' ALUE	T
STOCKS		1,0	65,16	54. 1	,221,4	21.
TOTAL TO FORM 990-PF, PART II, L	INE 10B	1,0	65,16	1	,221,4	21.
FORM 990-PF (CORPORATE BONDS			STAT	EMENT	6
DESCRIPTION		воок	VALUE		MARKE' ALUE	т
BONDS		3	72,05	53.	362,7	10.
TOTAL TO FORM 990-PF, PART II, L	INE 10C	3	72,05	53.	362,7	10.
	ST OF OFFICERS, D FOUNDATION MAN		S	STAT	EMENT	7
	D FOUNDATION MAN	NAGERS		EMPLOYEE		
		COMPE SATIO	'N-		EXPEN	SE
NAME AND ADDRESS RICHARD BEERS	TITLE AND AVRG HRS/WK	COMPE SATIO IRECTOR	N- N	EMPLOYEE BEN PLAN CONTRIB	EXPEN:	SE NT
NAME AND ADDRESS RICHARD BEERS 13002 PENINSULA DRIVE TRAVERSE CITY, MI 49686 BRUCE BEERS 10300 DEERPATH SOUTH	TITLE AND AVRG HRS/WK PRESIDENT, DO	COMPE SATIO IRECTOR	0.	EMPLOYEE BEN PLAN CONTRIB	EXPEN: ACCOU	SE NT 0.
NAME AND ADDRESS RICHARD BEERS 13002 PENINSULA DRIVE TRAVERSE CITY, MI 49686 BRUCE BEERS 10300 DEERPATH SOUTH TRAVERSE CITY, MI 49685 ELIZABETH BEERS 2509 DAY DRIVE	TITLE AND AVRG HRS/WK PRESIDENT, DO 0.00 SECRETARY, DO 0.00 DIRECTOR	COMPE SATIO IRECTOR	0.	EMPLOYEE BEN PLAN CONTRIB 0.	ACCOU	0. 0.
NAME AND ADDRESS RICHARD BEERS 13002 PENINSULA DRIVE TRAVERSE CITY, MI 49686 BRUCE BEERS 10300 DEERPATH SOUTH TRAVERSE CITY, MI 49685 ELIZABETH BEERS 2509 DAY DRIVE WENATCHEE, WA 98801 NANCY MANTYBAND 390 HAZEL AVE	TITLE AND AVRG HRS/WK PRESIDENT, DO 0.00 SECRETARY, DO 0.00 DIRECTOR 0.00	COMPE SATIO IRECTOR	0. 0.	EMPLOYEE BEN PLAN CONTRIB 0.	EXPENS ACCOU	SE NT

FIFTH THIRD PRIVATE BANK

01/01/2015 - 03/31/2015

「意かいるこうる	マートー リイン 200 July 201 インス・バイング・ジャー・ストー・ストー・ストー・ストー・ストー・ストー・ストー・ストー・ストー・スト			(continued)
		Cost Basis	Income Cash	Principal Cash
Date SAAtustus	コールのできょうだけできょう。 ちいんこう ごうてき できない かいかいかい からの 高温を開発 はいる まずな はませいして アンドウン・コール かいかい かんしょう コース・ストン・ストン・ストン・ストン・ストン・ストン・ストン・ストン・ストン・スト		***	(continued)
01/29/15	GENERAL ELECTRIC CO 12/06/07 5.250 12/06/17 AMORTIZED PREMIUM YEAR-END ACCOUNT 54-54-000-8407918	\$(772.42)		
01/29/15	OCCIDENTAL PETROLEUM CORP 08/18/11 1.750 02/15/17 AMORTIZED PREMIUM YEAR-END	\$(69.06)		-
		\$(1,870.56)		

						Realized Gain / (Loss)/(Lass)
		;		-	inter discon	Chort Torm	Long-Torm
Date	Description	Quantity	Sale Price	Proceeds	COST BASIS	Suort-Term	Long-Term
01/00/15	ROYAL CARTREFAN CRUISES LTD	2.0000	\$82.28	\$164.48	\$108 30	\$56 18	
01/09/15	CAS HEALTH CORPORATION	2.0000	\$94.35	\$188.61	\$154.52	\$34.09	
01/09/15	DELTA AIR LINES INC	11.0000	\$46.66	\$512.80	\$434.83	\$77.97	
01/00/15	INTERNATIONAL RISINESS MACHS	90000	\$156.53	\$938.91	\$1,114.98	\$(176.07)	
01/00/15	MET IEE INC	37.0000	\$50.38	\$1,862.51	\$1,876 64	\$(14.13)	
21/00/10	PICTEST CORP AMER	6.0000	\$76.59	\$459.30	\$405.78	\$53.52	
01/09/15	SKYMORKS SOLITIONS INC	4.0000	\$70.52	\$281.90	\$167.40	\$114.50	
01/07/15	POVAL CARIBREAN CRUISES LTD	2.0000	\$82.59	\$165.09	\$108.30	· \$56.79	
01/12/13	HEI MERICH & PAYNE INC	2.0000	\$59.39	\$118.70	\$212.16	\$(93.46)	
01/12/15	INTERNATIONAL BUSINESS MACHS	2.0000	\$155.03	\$774.94	\$922.62	\$(150.68)	
01/12/15	CO RECORD	2 0000	\$64.63	\$322.96	\$262.82	\$60.14	
01/12/15	SKYWORKS SOLUTIONS INC	3.0000	\$71.18	\$213.40	\$125.55	\$87.85	
01/12/15	HEI MERICH & PAYNE INC	20.0000	\$61.21	\$1,223.40	\$2,075.67	\$(852.27)	
01/55/15	HARDING I DEVNER FRONTIER	2,726.8860	\$8.76	\$23,887.52	\$25,660,00	\$(1,772.48)	
02/23/15	AVENIE MITUAL FUNDS	3,021.9540	\$10.84	\$32,757.98	\$35,607.41	\$ (2,849 43)	
03/02/15	D MORGAN CHASE	25,000.0000	\$100.00	\$25,000.00	\$24,564.75		\$435 25
03/02/15	ITMAN GREGORY MASTER ALT	2,963.9370	\$11.67	\$34,589.14	\$34,190.00	\$399 14	
03/02/15	MAINSTAY MARKETFIELD I	3,456.7210	\$16.26	\$56,206.28	\$62,721.96		\$(6,515.68)
02/02/15	1 P MORGAN TR INCOME OPP SEL	5,803.1090	\$11.78	\$68,360.62	\$69,180.00	\$(108.08)	\$ (711.30)
01/10/00		0000	¢31 03	¢1 580 70	¢1 774 39	¢(193.69)	

逐

Page 38 of 40

Investment Account 54-54-000-9467028

FIFTH THIRD PRIVATE BANK

Investment Account 54-54-000-9467028
BEERS F FOUNDATION CONSOLIDATE

01/01/2015 - 03/31/2015

ではない	是是一个是一个,他们是一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个	SGAIN / (LOSS) ON SALE OF SECURITIES	S) ON SALE OF	SECURITIES		(cont	(continued)
						Realized Gain/(Loss	(Loss)
Date	Description	Quantity	Sale Price	Proceeds	Cost Basis	Short-Term	Long-Term
03/25/15	TRINITY INDS INC	14.0000	\$35.07	\$490.39	\$361.11	\$129.28	
03/26/15	AETNA INC	2.0000	\$109.19	\$545.74	\$380 15	\$165.59	
03/26/15	ALLSTATE CORP	3.0000	\$72.13	\$216.28	. \$174.87	\$41.41	
03/26/15	APPLE INC	2.0000	\$127.74	\$255.40	\$173 92	\$81.48	
03/26/15	BOEING CO	1.0000	\$153.22	\$153.17	\$132.52	\$20.65	
03/26/15	BROADRIDGE FINANCIAL SOLUTIO	2.0000	\$53 96	\$107.84	\$93.79	\$14.05	
03/26/15	HCA HOLDINGS INC	4.0000	\$78.04	\$312.00	\$277.99	. \$34.01	
03/26/15	HANESBRANDS INC.	2.0000	\$34.50	\$68.92	\$42.02	\$26.90	
03/26/15	INTEL CORP	8,0000	\$31.34	\$250.43	\$278.33	\$(27.90)	
03/26/15	KROGER CO	2,0000	\$77.27	\$386.12	\$262 81	\$123.31	
03/26/15	MACYS INC	4.0000	\$66.00	\$263.84	\$235.72	\$28 12	
03/26/15	MCKESSON CORPORATION	2.0000	\$230.79	\$461.49	\$367.98	\$93 51	
03/26/15	SKYWORKS SOLUTIONS INC	4.0000	\$102.30	\$409.03	\$167.40	\$241.63	
03/26/15	TYSON FOODS INC	10.0000	\$40.46	\$404.18	\$377.74	\$26.44	
03/26/15	WHIRLPOOL CORP	2.0000	\$198.01	\$395.92	\$294.74	\$101.18	
03/27/15	TE CONNECTIVITY LTD REG SHS	3.0000	\$72.83	\$218.36	\$184.72	\$33 64	
03/27/15	AMGEN INC	2.0000	\$166.72	\$333.36	\$229 98	\$103.38	
03/27/15	BROADRIDGE FINANCIAL SOLUTIO	2.0000	\$53.65	\$107.23	. \$93.79	\$13.44	
03/27/15	HANESBRANDS INC.	17.0000	\$33.93	\$576.17	\$357.13	\$219 04	
03/27/15	SKYWORKS SOLUTIONS INC	3.0000	\$101.83	\$305.36	\$125.55	\$179.81	
03/27/15	TESORO CORPORATION	6.0000	\$91.02	\$545.87	\$429.02	\$116.85	
03/27/15	TYSON FOODS INC	44.0000	\$38.48	\$1,691.17	\$1,662.06	\$29.11	
	Net Gain/(Loss) on Securities Sold			\$258,107.51	\$268,374.42	\$(3,475.18)	\$(6,791.73)

* * * * End of statement for Investment Account 54-54-000-9467028 * * * *

04/01/2015 - 06/30/2015

的學者可以使用的學	ODD 大きなない。 では、大きない。 では、大きない。 では、ためいない。 では、ためいない。 では、ないでは、ないでは、ないでは、ないでは、ないでは、ないでは、ないでは、ない	MANAGED NATIONAL ACTIVITY OF THE PROPERTY OF T		(continued)
Date	: 5	Cost Basis	Income Cash	Principal Cash
West Ed	Cost Edulyalents Sales 18 18 18 18 18 18 18 18 18 18 18 18 18	The second of th	,	(continued)
06/30/15	FIFTH THIRD BANKSAFE TRUST MONTHLY MONEY MARKET WITHDRAWAL	\$(21,885.00)		\$21,885.00
	Total Cash Equivalents Sales	\$(28,376.00)	\$419.00	\$27,957.00

教徒とあると	である。 では、これでは、これでは、これでは、これでは、これでは、これでは、これでは、これ	GAIN / (LOSS	ON SALE OF	GAIN! (LOSS) ON SALE OF SECURITIES	1、 大きなない	, ,	
ずいたのではなった。	•					Realized Gain/(Loss)	1/(Loss)
ş	Sold in the second seco	Ouantity	Sale Price	Proceeds	Cost Basis	Short-Term	Long-Term
Date OC/20/15	TE CONNECTIVITY LTD REG SHS	31.0000	\$70.00	\$2,168.75	\$1,906.63	\$262.12	
03/26/13	I COMPETE TABLET TABLES	2.0000	\$103.16	\$515.60	\$492.25	\$23.35	
03/26/13	MY AN A YORK FIRO	3.0000	\$70.01	\$209.91	\$190.68	\$19.23	
02/20/13	CNI CMATCAS COST	7.0000	\$29.37	\$202.58	\$174.95	\$30.33	
51/56/50	CONOCIDENTIAL	12,0000	\$65.28	. \$782.83	\$948.47	\$(165.64)	
51/67/50	DISCOVED FINANCIAL SERVICES	39.0000	\$59.62	\$2,323.38	\$2,244.03	\$26.32	
02/20/13	CISCOVEIN INTERCEMENT OF THE CONTROL	2,0000	\$112.27	\$224.46	\$212.12	\$12.34	
51/67/50 51/66/30	MACINA INTI INC	2,0000	\$57.62	\$287.90	\$258.89	\$29.01	
51/56/13	PACKAGING CORD AMED	14,0000	\$70.60	\$987.88	\$946.82	\$41.06	
51/56/50		15.0000	\$107.00	\$1,604.37	\$1,457.10	\$147.27	
02/20/15	TEVAS INSTIBS INC	38.0000	\$55.48	\$2,106.65	\$2,241.68	\$(135.03)	
03/20/15		10.0000	\$192.39	\$1,923.46	\$1,473.70	\$449.76	
57/00/20	CONDCOBELL IDS	15.0000	\$64.11	\$960.96	\$1,179.60		\$(218.64)
57/29/13	PACKAGING CORP AMER	2.0000	\$69.87	\$349.16	\$335.61	\$4.74	\$8.81
05/25/15	PACKAGING CORP AMER	4,0000	\$70.39	\$281.40	\$260.37	\$21.03	
05/29/15	RAYTHEON CO	3.0000	\$105.64	\$316.79	\$291.42		\$25.37
05/20/15	DEVILOR AMERICAN INC	2.0000	\$75.01	\$149.93	\$143.38	\$6.55	
05/25/15	ROTTI ING GROUP	25,000.0000	\$100.00	\$25,000.00	\$25,769.14		\$(769.14)
06/26/15	LAZARD EMERGING MARKETS EQ INSTL	3,413.9130	\$17.10	\$58,377.91	\$65,946.89	\$(4,546.43)	\$(3,022.55)
06/26/15	TEMPLETON INTERNATIONAL BOND ADV	3,141.3610	\$10.61	\$33,329.84	\$36,000.00		\$(2,670.16)
06/26/15	THORNBURG DEVELOPING WORLD FUND	3,442.3410	\$18.65	\$64,199.66	\$60,000.00		\$4,199.66
15-15-	Net Gain/(Loss) on Securities Sold			\$196,306,12	\$202,473.73	\$(3,720.96)	\$(2,446.65)

**** End of statement for Investment Account 54-54-000-9467028 ***



Page 34 of 36

Ì

FIFTH THIRD PRIVATE BANK

Investment Account 54-54-000-9467028
BEERS F FOUNDATION CONSOLIDATE

07/01/2015 - 09/30/2015

Contract Section	1.88年最高等的第四人员制度的第三人称形式,以下,一个工作,是一个的ACCOUNT ACTIVITY。		(continued)
Date	Description	Cost In Basis	Income Principal Cash Cash
Corporate	Corporate Actions		(continued)
09/01/15	REYNOLDS AMERICAN INC RECEIVED 09/01/15 22 SHARES AS 100.00% STOCK SPLIT ACCOUNT 54-54-000-9467044		

REYNOLDS AMERICAN INC
RECEIVED 09/01/15 4 SHARES
AS 100 00% STOCK SPLIT
ACCOUNT 54-54-000-9467044
Total Corporate Actions

09/15/15

から リメード	からかいかられることが、これできないというというないというない	GAIN / (LOSS	GAIN / (LOSS) ON SALE OF SECURITIES	SECURITIES			
						Realized Gain/(Loss)	n/(Loss)
Date	Description	Quantity	Sale Price	Proceeds	Cost Basis	Short-Term	Long-Term
08/03/15	BANK OF AMERICA CORP	25,000.0000	\$100.00	\$25,000.00	\$24,813.95		\$186.05
08/06/15	TCW EMERGING MARKETS INCOME CL I	4,241.6450	\$7.78	\$33,000.00	\$39,296.81		\$(6,296.81)
08/10/15	ISHARES COHEN & STEERS REALTY	190.0000	\$94.60	\$17,966.08	\$12,291 10		\$5,674 98
08/25/15	AMDOCS LIMITED	. 4.0000	\$59.17	\$236.50	\$191.60		\$44.90
08/25/15	SEAGATE TECHNOLOGY PLC SHS	17.0000	\$49.20	\$835.64	\$916 32	\$(58 56)	\$(22 12)
08/25/15	AETNA INC	3.0000	\$119.25	\$357.62	\$228.09		\$129.53
08/25/15	ALLSTATE CORP	24.0000	\$62.79	\$1,505.90	\$1,398.96		\$106.94
08/25/15	BROADRIDGE FINANCIAL SOLUTIO	4.0000	\$54.80	\$219 03	\$187.43	\$31.60	-
08/25/15	CDW CORP	8.0000	\$38.94	\$311.16	\$280.71	\$30.45	
08/25/15	CVS HEALTH CORPORATION	2.0000	\$107.14	\$214.20	\$154.52	•	\$59.68
08/25/15	DR PEPPER SNAPPLE GROUP INC	3.0000	\$81.91	\$245.61	\$220.02	\$25.59	-
08/25/15	HCA HOLDINGS INC	1.0000	\$88.10	\$88.06	\$69.50	\$18.56	
08/25/15	HANESBRANDS INC.	10.0000	\$26.71	\$266.68	\$210.08	-	\$56.60
08/25/15	HANESBRANDS INC.	25.0000	\$30.39	\$758.84	\$525.18		\$233,66
08/25/15	LINCOLN NATL CORP IND	1.0000	\$53.75	\$53.71	\$48.41		\$5.30
08/25/15	OMEGA HEALTHCARE INVS INC	8.0000	\$37.04	\$295.99	\$289.61	\$6.38	•
08/25/15	PNC FINANCIAL SERVICES GROUP	2.0000	\$95.60	\$191.12	\$175.18	-	\$15.94
08/25/15	REYNOLDS AMERICAN INC	4.0000	\$85.14	\$340.39	\$286.38	\$54.01	
08/25/15	TRINITY INDS INC	65.0000	\$26.10	\$1,694.10	\$2,359.65	\$(44.71)	\$(620,84)
08/25/15	WELLS FARGO & COMPANY	6.0000	\$56.40	\$338.15	\$330.08	\$1.84	\$6.23
08/26/15	SEAGATE TECHNOLOGY PLC SHS	23.0000	\$49.63	\$1,140.61	\$1,194.16	•	\$(53.55)

Page 35 of 38

07/01/2015 - 09/30/2015

Date Description 08/26/15 MYLAN N V SHS EURO 08/26/15 MYLATAN N V SHS EURO 08/26/15 ROYAL CARIBBEAN CRUISES LTD 08/26/15 ALLSTATE CORP 08/26/15 DELTA AIR LINES INC 08/26/15 DEVON ENERGY CORPORATION 08/26/15 HANESBRANDS INC. 08/26/15 LINCOLN NATL CORP IND 08/26/15 LINCOLN NATL CORP IND 08/26/15 LINCOLN NATL CORP IND 08/26/15 UNION PAC CORP 08/26/15 UNITED TECHNOLOGIES CORP 09/30/15 INTERNATIONAL PAPER CO 09/30/15 ORACLE CORPORATION	EURO NN CRUISES LTD 5 INC						
	EURO NN CRUISES LTD 5 INC	1111				Realized Gain/(Loss	ار(Loss)
715 715 715 715 715 715 715 715 715 715	EURO NN CRUISES LTD 5 INC		Sale Price	Proceeds	Cost Basis	Short-Term	Long-Term
	AN CRUISES LTD	31.0000	\$52.22	\$1,617.60	\$1,970.32	\$(352.72)	
	AN CRUISES CID	4 0000	\$86.26	\$344.88	\$216.60	•	\$128 28
) INC	0000.	77.094	4406 56	¢466 32		\$30.24
	S INC	8.0000	\$52.11	00 00+4	2C.00F¢	9	
		46.0000	\$45.11	\$2,073.31	\$1,845.13	\$12.04	\$216.14
_		28.0000	\$41.65	\$1,165.06	\$1,879.86	\$(714.80)	
	SINC CONTRACTOR	0000 8	\$85.23	\$255,56	\$208.49	\$47.07	
	ָּוֹאַ <i>ר</i> ָ	000000	#30 61	4768 03	¢546 19	•	477774
	ين	70000	10.624	400000	77.01		
	ONI DRO	12.0000	\$51.00	\$611.52	\$580.92		.\$30.60
	CNI add	25.0000	\$52.06	\$1,300.57	\$1,210 25		\$90.32
	ONT VO	. 0000	\$41 QR	\$167.77	\$160.83		\$6.94
	יובר	000:			00.00	(41.40)	70 70+/4
	Δ.	19,0000	\$87.45	\$1,660.76	\$1,881.89	\$(34.27)	(00.001)¢
	HOGTES CORP	17.0000	\$94.23	\$1,601.16	\$1,946.23	\$(23.56)	\$(321.51
	DABED CO	0000 61	\$38.68	\$734 12	\$1,008.96	\$(274.84)	
_	A LE CO	טטטט אב	\$36.05	\$1.368.49	\$1,599,04		\$(230.55)
	ATION	0000:00	7 7 7 7	C+ C++	404 16		±(1) 04
09/30/15 ORACLE CORPORATION	MATION	7.0000	\$30.1U	\$1.2.4¢	07.50		7 (7)
	VATION	13.0000	\$36.07	\$468.38	\$530.92	\$(14.13)	\$(48.41
	Not Gain (1) oct) on Committee Sold			\$99,766.18	\$101,603.85	\$(1,290.05)	\$(547.62

**** End of statement for Investment Account 54-54-000-9467028 ****

Page 36 of 38

10/01/2015 - 12/31/2015

	The state of the s	GAIN / (LOSS) ON SALE OF SECURITIES	ON SALE OF	SECURITIES			
						Realized Gain/(Loss	1/(Loss)
Date	Description	Quantity	Sale Price	Proceeds	Cost Basis	Short-Term	Long-Term
10/01/15	INTERNATIONAL PAPER CO	4.0000	\$38.11	\$152.29	\$212.41	\$(60.12)	
10/01/15	INTERNATIONAL PAPER CO	12.0000	\$37.63	\$451.11	\$636.31	\$(185.20)	
10/01/15	ORACLE CORPORATION	1.0000	\$35.92	\$35.88	\$38.85	\$(2.97)	
11/19/15	GATEWAY A	570.8530	\$29.78	\$17,000.00	\$14,364.44		\$2,635.56
11/23/15	UBS E-TRACS ALERIAN MLP INFRASTR	1,450.0000	\$28.02	\$40,570.40	\$52,764.86	\$(12,194 46)	
12/10/15	LYONDELLBASELL INDUSTRIES	1.0000	\$92.23	\$92.22	\$74.30	\$17.92	
12/10/15	CDW CORP	3.0000	\$44.15	\$132.34	\$105.27		\$27.07
12/10/15	CHEVRON CORPORATION	2.0000	\$86.32	\$172.56	\$160.48	\$12.08	
12/10/15	DR PEPPER SNAPPLE GROUP INC	3.0000	\$92.16	\$276.45	\$219.19		\$57.26
12/10/15	HCA HOLDINGS INC	7.0000	\$66.65	\$466.49	\$486.48		\$(19.99)
12/10/15	HCA HOLDINGS INC	17.0000	\$66.43	\$1,128.62	\$1,181.46		\$(52.84)
12/10/15	KIMBERLY CLARK CORP	3.0000	\$121.50	\$364.46	\$324.87	\$24.30	\$15.29
12/10/15	KROGER CO	3.0000	\$41.20	\$123.56	\$78.85		\$44.71
12/10/15	MACYS INC	32.0000	\$38.82	\$1,242.86	\$1,839.81		\$(26.965)
12/10/15	MAGNA INT. INC	37.0000	\$43.77	\$1,618.98	\$1,887.42		\$(268.44)
12/10/15	MCKESSON CORPORATION	3.0000	\$189.08	\$567.20	\$551.97		\$15.23
12/10/15	MCKESSON CORPORATION	7.0000	\$189.01	\$1,322.79	\$1,316.38	\$(23.47)	\$29.88
12/10/15	MICROSOFT CORP	7.0000	\$55.54	\$388.73	\$330.10	\$58.63	
12/10/15	PACCAR INC	36.0000	\$48.99	\$1,763.42	\$2,197.77	\$(434 35)	
12/10/15	REYNOLDS AMERICAN INC	2.0000	\$46.91	\$93.79	\$71.31	\$22 48	
12/10/15	REYNOLDS AMERICAN INC	3.0000	\$46.77	\$140.20	\$106.97	\$33.23	
12/10/15	TESORO CORPORATION	2.0000	\$110.27	\$220.46	\$143.01	\$77.45	
12/17/15	TCW EMERGING MARKETS INCOME CL 1	2,340.6630	\$7.46	\$17,461.35	\$19,703.19		\$(2,241.84)
12/17/15	THORNBURG INVESTMENT INC BUILDER	1,713.6150	\$19.17	\$32,850.00	\$37,408 22		\$(4,558.22)
12/17/15	WILLIAM BLAIR FDS ALLOC I	1,536.1180	\$11.49	\$17,650.00	\$19,914.74		\$(2,264.74)
	Net Gain/(Loss) on Securities Sold			\$136,286.16	\$156,118.66	\$(12,654.48)	\$(7,178.02)

**** End of statement for Investment Account 54-54-000-9467028 ***

Page 38 of 40

\ }